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Answer any Six Questions : ' , (6 x 5 =30 Marks)

. For what values of k, the below set of equations have a solution. Solve them

completely in each cases.
x+y+z=1
2x+y+dz=k
4x+y+10z =k

. Reduce the matrix 4 to its normal form and hence find its rank, where

1 1 16

A=1—125
301 1 8

2 -2 3 7

. Find the n” derivative of the following:

i
a) —————— .
(x+2)(x+1)

msin~tx

b) e" sinxsin2x.

. prove that (1 -x*)y,.,+Q2a+Dxy,,,—@* +m)y, =0.

. If u=u(x,y) is a homogeneous functicn of degree n, then prove that

ou ou
4 _

a) Xa y—a—;—

hy,

o*u o’u o%u
o + 2xy v +y° Y n(n~Du.

b} Using (a) prove that x*

52 52

Ou

. Find the symmetrical form &f the line of intersection of the planes

2x+3y+5z-1=0and 3x+y—-2z+2=0.

. Find the bisector of the acute angle between the planes

2x~y+2z+3=0and 3x+2y+6z+8=0.




